
138 FUKAWA-CHO, FUCHU-SHI,
HIROSHIMA-PREF., JAPAN. 〒726-0004
TEL:81-847-40-0088 FAX:81-847-45-7670
http//model.hirobo.co.jp/

広島県府中市府川町138 〒726-0004
TEL:（0847）40-0088（代） FAX:45-7670
http://model.hirobo.co.jp/

0406-056
0406-057

M3X15PH ........................... 12

M3ナット ........................... 12
M3 nut

カラー 3X6X12 ................. 18
Collar 3X6X12

FW ø2.6X7.5X0.5T ............ 24

重要 Important

一番重いブレード
Heaviest blade

バランス合わせ
Balance

M3X15PH

FWø2.6X7.5X0.5T

FWø2.6X7.5X0.5T

KVルートエンド
KV root end

M3ナット
M3 nut

エポキシ
Epoxy

カラー3X6X12
Collar 3X6X12

収縮チューブを
カッターで
切り取ります。
Cut the elastic tube 
with a cutter knife.

エポキシ接着剤
30分硬化型
30-min hardening type 
epoxy adhesive

3枚ローターヘッドでは3枚のブレードのバラ
ンスをとる必要があります。
一番重いブレードを基準にして残りの2本のブ
レードのバランスを合わせます。
※ 3枚のブレード全てに色の異なるトラッキ
ングテープを貼っておくとトラッキングを見
やすくなります。

It is necessary to balance the three blades 
when using a three-blade rotor head.
Use the heaviest blade as the standard 
and balance the other two blades.
※The tracking is made easier by affixing 

different colored tracking tape to each of 
the three blades.

MRB-IIIメインブレード 左回転 右回転
MRB-III main blade (counterclockwise and clockwise)

注 意 Caution

右回転
Rotates clockwise

左回転
Rotates counterclockwise

ブレード前縁
Front of blade

ブレード前縁
Front of blade

ピッチアーム
Pitch arm

ピッチアーム
Pitch arm

上
Up

ブレードの断面
Blade cross-section

138 FUKAWA-CHO, FUCHU-SHI,
HIROSHIMA-PREF., JAPAN. 〒726-0004
TEL:81-847-40-0088 FAX:81-847-45-7670
http//model.hirobo.co.jp/

広島県府中市府川町138 〒726-0004
TEL:（0847）40-0088（代） FAX:45-7670
http://model.hirobo.co.jp/

0406-056
0406-057

M3X15PH ........................... 12

M3ナット ........................... 12
M3 nut

カラー 3X6X12 ................. 18
Collar 3X6X12

FW ø2.6X7.5X0.5T ............ 24

重要 Important

一番重いブレード
Heaviest blade

バランス合わせ
Balance

M3X15PH

FWø2.6X7.5X0.5T

FWø2.6X7.5X0.5T

KVルートエンド
KV root end

M3ナット
M3 nut

エポキシ
Epoxy

カラー3X6X12
Collar 3X6X12

収縮チューブを
カッターで
切り取ります。
Cut the elastic tube 
with a cutter knife.

エポキシ接着剤
30分硬化型
30-min hardening type 
epoxy adhesive

3枚ローターヘッドでは3枚のブレードのバラ
ンスをとる必要があります。
一番重いブレードを基準にして残りの2本のブ
レードのバランスを合わせます。
※ 3枚のブレード全てに色の異なるトラッキ
ングテープを貼っておくとトラッキングを見
やすくなります。

It is necessary to balance the three blades 
when using a three-blade rotor head.
Use the heaviest blade as the standard 
and balance the other two blades.
※The tracking is made easier by affixing 

different colored tracking tape to each of 
the three blades.

MRB-IIIメインブレード 左回転 右回転
MRB-III main blade (counterclockwise and clockwise)

注 意 Caution

右回転
Rotates clockwise

左回転
Rotates counterclockwise

ブレード前縁
Front of blade

ブレード前縁
Front of blade

ピッチアーム
Pitch arm

ピッチアーム
Pitch arm

上
Up

ブレードの断面
Blade cross-section


